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LISTENING TESTS
Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.
Verbal Answers (English or Target Language)

1. The basic principle of assessment is that candidates should gain credit for what they know,
understand and can do. The following guidance should be borne in mind when marking.

(a) Credit should be given for all answers which convey the key idea required intelligibly
and without ambiguity. This applies whether the answer is in English or in the target
language. A separate assessment of spelling, punctuation and grammar is not required on
these papers because of the nature of the answers. However, these aspects are an integral
part of assessing communication and marks cannot be awarded where errors in spelling,
punctuation or grammar lead to a failure to communicate the required information
without ambiguity.

(b) Where a candidate has given alternatives or additional information in answer, the following
criteria should be applied:
- if the alternative/addition does not contradict the key idea or make it ambiguous,
accept;
- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

c ere numbered lines are given within a question/section of a question, credit should be
Wh bered 1 g thin a question/sect fa quest dit should b
given for correct answers, no matter which line they appear on.

(d) Where a question has more than one section, a candidate may include as part of the
answer to one section the information required to answer another section. For instance,
the information required to answer section (b) might be given as part of the answer to
section (a). In such cases, credit should be given for having answered section (b),
provided that no incorrect answer has been given for that section in the correct place.

(e) Where a question or part of a question carries more than one mark, candidates are given
credit for all the correct answers they give, even if they have given incorrect answers as
well, except where any of the latter contradicts a correct answer that they have given.

2. /..... means that these are acceptable alternative answers. (.....) means that this information is
not needed for full marks.

3. In questions where candidates are asked to name, for example, three types of vegetable sold in the
market, only the first three items they write down should be considered.

4. In multiple choice questions where candidates must choose one letter or number, they should
automatically get no mark awarded if they give more than one. If the rubric instructs them to
write one letter or number in the box and they do so, but write a second letter or number outside
the box too, then the answer in the box should be considered.

5. No mark scheme can cover all possible answers. When in doubt:

- look for the key idea, where this is appropriate.
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Foundation Tier

Question Answer Accept Reject Mark
1 a) Cinema movies, see a film 1
b) Friday pictures 1
2 a) (swimming) pool/baths swimming 1
b) brother 1
3 a) Science 1
b) English (or vice versa) 1
(it is) green by its colour 1
5 a) B 1
b) A 1
6 a) B 1
b) C 1
7 a) D 1
b) E 1
c) B 1
8 a) A 1
b) C 1
9 a A 1
b) D 1
10 a) B 1
b) C 1
11 C 1
12 a) B 1
b) A 1
13 a) C 1
b) B 1
C) A 1
14 a) B un dodici / il dodici.. undodici 1
b) A recognisable spelling of dodici 1
c) 12 1
15 a) B 1
b) C 1
16 a) A 1
b) B 1
17 a) P positiva / positivo/pos ENGLISH 1
b) P+N negativa/o positive, 1

negative
+/- VX

Paper Total = 35 marks
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Higher Tier

Question Answer Accept Reject Mark

1 a) B 1

b) A 1

2 a) C 1

b) B 1

c) A 1

3 a) B 1

b) A 1

C) 12 1

4 a) B 1

b) C 1

5 a) A 1

b) B 1

6 a) P 1

b) P+N 1

7 a) A 1

b) A 1

8 a) vento (un) rumore e wrong spelling of 1

b) C a casa del vento vento & rumore 1

® rUMOroso
e aperto

9 a) C 1

b) B 1

c) A 1

10 a) C 1

b) A 1

11 a) B 1

b) A 1

¢) italiano italian 1

12 a) (¢) bionda/(ha la) pelle chiara/(¢) pella/pelli chiari/a/e e interessante 1

pericoloso male per la pelle e pelo/peli/pello
b) A anything showing 1
c) B understanding of the 1
danger

13 a) A 1

b) B 1

c) A 1
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Question Answer Accept Reject Mark
14 a) (acting) group not the were not good e boring 2
best/actors made messed it up ¢ dancing if actors
b) errors/actors forgot words not included
(show) full of life/actors (ENSURE 2 DIFFERENT e actors came to 1
came among them/actors REASONYS) talk to us
came among e it was fantastic
audience/actors danced into audience e enjoyed the end
with them
15 she looks like an onion/ she | not very elegant e coats; jackets
is wearing so many o scruffy; messy
jumpers/clothes/layers/tops e present tense of can
she got cold/had to put on she was cold cold split
(lots of) jumpers / was not | (1 looks + 1 reason) reject comments on 2
wearing enough clothes weather unless these
explain why she got
cold
16 a) it is too early a) too young (to decide) ® too quickly 1
b)present parents choose (and make a | b) e parents interfere
tense mistake) e anything suggesting
No — she is doing badly in that parents make the
c) science/she would have choice.
preferred another type of ¢) e would have preferred o does not like 1
school/parents made a bad e wanted science
choice. e parents chose (past e wants to go to
(accept mention of any tense) another school 1

other type of school)

e idea of parents made a

mistake.

Paper Total = 40 marks




